L e 2 15 siall

3paall Ao ) 5 ddau 5ia

JY AN LAY | ad i) sl

3 2 11
A=5 x(7 +21) [A sl sl 1/
0.5 3 2x3 11
0.5 =5 x(T¥3 +71)
s e 1 J
=5x(?71+71) , A=5 x721
0.5 |
51
3 —_— 1 o<l
A =105
0.5 51:3 17
=105:3 , A=35
0.5 |
1 5 7 2
B=( 4 x 4 )(T0 +5 )
0.5 5 7 2x2
~ 16 X(10 +5x2)
5 11 25
~16 X10 , B=160
55
B=160
55:5 11
=160:5, B= 32
LW i 5 ) ensll a5 /1
0.5 | e sl oda lilie s g
11 3 7
0.5 & > 5 > 20 s
2 Gaall
s |
(>¢< ) Ssall b dus) /2
0.5+0.5
0.5+0.5+ 70 7 13 70 70 7
4 >1 ¢ 1<5 ¢« 4 <4 <« 4 >05
0.5 | e Jal
0.5%0.5 | eoeeeeeee et B(-2.5) ¢« A(+3) kil alas /1
3 0.540.5 | overeeeeeeeeeeeenes K(-4) ¢ C(+2) /K. C ki) jlalasel g /2
3 Cuoadll
Laebea Al slacY) s 55 3




Buaall 45 ) 0 Aans 5ia

N s A oihall Joli O WS je Al iy

0.5 | -5<0<+7<10
1 | e Jsal)
A
N ‘
\ 4 <l
1| s [AB] caaiia Jaiy A 5 AL(AB) oV
) JSE
( [ON] —axi O ) ON= OB
(A Lyl (10 4k 0 ) OA=0B <X
1 | e, 50 S e 2 O / OA=ON (& OA=OB=0ON i

http://elbassair.net




